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OR (372rd1)
What are the problems associated with ocean

thermal energy conversion ?

AR 19 Holl SUIRYT & A1 Sl
wfs-gat «ar 2 ?

8. Explain the problems associated with wind energy

generation.

999 ol d IAIGd 4 IS HfSA15al DI
AT N |

OR(3721dT)

What are the conventional of non-conventional

energy sources ? Describe briefly ?

TRUIR® Td AR yRUR® ol SAid |1 2 ?
dag § quiq &Y |

9. Describe the main consideration in selecting the

site for wind energy generators ? 8
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Time : 3Hrs. Sem - VI/Mech. Engg.
N.C.E.S.
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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yaq SHoll SUTavl Ugfad @ o9 U9 g (i) Udd Holl d fIaxor o1 garfad &=
) fafaa=m & | qTell PRP 27
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() \ag &1 gy yHaq
() =9 9 u+h

Describe the working of a wind energy system with
main components and neat sketch.

(i) e is used to turn wind energy
: . o
99 ol & SRYITC & &I JIqqdl HI EZ;OTilrelfiical eneley!
IRE B A qui B? (b) Generator
(c) Compressor
5. Describe the main application of wind energy (d) Blades
with neat sketches.
4 (i) 99T Holl Bl fagd Sl H qeeqd &
v o B e e B e B fere @ SuatT fpar siran @ 2
|rer i &Y | (s1) :
@) SiEReR
(d) HHUIR
OR(37214T) (@) ufmat
How does Biomass conversion takes place ? (iv)  Energy available in the winds over the earth
surface is estimated to be
IRIAT BUTARYT © ¥ Iar & ? (a) 2.9 x 120 MW
(b) 1.6 x 107 MW
6. State the environmental problem associated with (c) I MW
geothermal energy conversion. 4 (d) 5 MW
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Answer all Five Questions.

12 0T6030
3G9 A bl 9 J=T orar @ s
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(31) dad oA
@) ITRfieR®
(W) a9 ud AffieRs <=l
(%) 9 & dIs T8l
GROUPB
4x5=20

gl uig 93 & SN < |

2.

Describe the 'closed cycle' ocean thermal energy

conservation system.

s A SHoll W& & "4 qb” Bl
quiq & |
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(vi)

(vii)

(vii)

(viii)

5 25605A

HRA A Uad Holl &1 fabra H9 gam ?
(1) 1965
(9) 1954
(|) 1990
() 1985

Geothermal energy is the thermal energy .......
(a) On the earth surface

(b) On the surface of ocean

(¢) In the interior of the earth

(d) None of the above

A Sof adae & arfig st 2 ?
(31) gedl &1 wds WX

(@) 9qs @ ¥dg W

(|) gedft & WA wrr 9

(®) 379 4 ®Ig W )

Geothermal energy comes from...........
(a) Wind

(b) Rivers

(c) Ocean tides and waves

(d) Heat inside earth
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(xvii)

(xvii)

(xviii)
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(@) w9 A fafr=1 'R w e 9
3ax

(@) Sof o gRT €U

(|) <919 IR

(]) W% ¥ Sodr waR

....................... is the ultimate source of energy.

(a) Water

(b) Uranium
(¢) Sun

(d) Fossil fuel

fr=faRaa & @ &9 ol @1 sifaw
d 87

(31) Sre

@) frEm

() |k

(%) Share ge9

Energy harnessed from the heat of sun is
called.

(a) Geo thermal energy

(b) Geo power energy

(¢) Geo tidal thermal

(d) None of these

0T6030

x)

(xi)

(xi)

(xii)

7 25605A

A Sal G331 & FEio &1 4=
P B ?

(31) yquor

(9) <mra

(&) uzATYy A

(2) dRa® qrawm™=

The natural disaster viz .................. could
potentially be caused by Geothermal power
plants.

(a) Earth quakes

(b) Hurricanes

(¢) Tornadoes

(d) Forest fires

Harda faga 9939 & RO yThfas
JATUST FHATAd @U | AT 8 Abdl 2 ?
(o) v

(@) qor

(|) dds¥

() STl BT 31T

The largest component of Biogas is.
(a) Helium

(b) Oxygen

(c) Nitrogen

(d) Methane
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10.

9q ol of A & fag e 994 28q &=
Q9 I g {953 &1 Seddd™ aY |

OR(37214T)

Discuss the limitation of non conventional sources
of energy.

AR IRIRS SHoll Sl @ SR & gHar
BN |

Describe the main types of turbine in brief, which
may be used for Geothermal energy conversion ?

8
A AIdI BUT<RYT 4 9gad Bi< dlel exdIs
P &I USRI &1 989 #§ quiq & |

OR (3121a1)

What is the main applications of hydrogen energy
of gases ?

19 @ BIgsiod Soll & &I JqUANT DI
fored |
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OR (37214T)

Discuss the limitation of non conventional sources

of energy.

AR IRIRS SHoll Erdal @ SR & aHer
B |

Describe the main types of turbine in brief, which
may be used for Geothermal energy conversion ?

8
A A1 BUTRYT A YYad BIF dldl eRAIS
@ &I USRI &1 989 7 quiq &Y |

OR (312141)

What is the main applications of hydrogen energy
of gases ?
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